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QUESTION 1
Exhibit
[edit]
userfrouterd set routing-options nonscop-routing

[ediz]

uzer@routers

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)
A. You should configure the max period for NSR precision timers.

B. You must configure GRES.

C. You must configure graceful restart.

D. You should configure commit synchronization.

Correct Answer: AB

QUESTION 2

Exhibit

userlR2> show ospf interface extenaive

Interface State Ar=a DE ID BODR ID Nbrs
ge—-0/0/3.0 DR 0.0.0.1 182_ 168.1.2 182_.168.1.1 1 Type: LAN, Address: 172.28.1.2, Mask:
235.255.255.252, Mru: 1500, Cost: I

DR addr: 172.26.1.2, BDR addr: 172.26.1.1, Priority: 128, Adj eocunt: 1

Hello: 10, Dead: 40, BeXmit: 5, Mot Stub

Auth type: None Topoclogy default (ID D) -> Cost: 0
ge-0/0/1.0 BDR 0.0.0.0 152.168.1.3 162.168.1.2 1

Type: LAN, Address: 172.26.2.1, Mask: 255.255.255.252, MTU: 1500, Cost: 1

DR addr: 172.26.2.2, BDR addr; 172.26.2.1, Priorizy: 128, Ady count: 1 Hello: 10,

De=ad: 40,

Auth typs: None

Topolegy defaunlt (ID 4) => Cost:
Referring to the exhibit, which two statements are correct? (Choose two.)
A. The OSPF Interfaces are configured as point-to-point.

B. The ge-0/0\\'1.0 Interface is configured as passive.

C. The R2 device is an ABR.
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D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

Correct Answer: BD

QUESTION 3
Exhibit
M\ Exhibit
13erfR1l> 3how vIrp Summary
Interface State Group VB s=tate VR Mode Type Address
ge—-0/0/4.0 up 1a master Active 1lel 172.25.100.2
vip 172.25.100.1
uzer@R2> show VIIp SUmNmMary
Interface 3tate GECUp VR =ztate VE Mode TYpe Address
ge-0/0/4.,0 up 10 mastear Active 1e1 T4.25.100.3
wip 172.25.100.1

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.

B. Both routers are in the same state because they have the same VRRP priority.

C. RRP Is functioning normally in active/active mode.

D. The routers should use different virtual IP addresses for VRRP to function correctly.

Correct Answer: D

QUESTION 4
Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)
A. By default, the next-hop value is changed across IBGP links.

B. By default, the next-hop value is changed across EBGP links.
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C. By default, the next-hop value is not changed across IBGP links.
D. By default, the next-hop value is not changed across EBGP links.

Correct Answer: A

QUESTION 5

You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two
statements are correct in this scenario? (Choose two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.

C. Traffic engineering extensions are not enabled by default in OSPF.

D. You must use the policing parameter in the label-switched-path configuration.

Correct Answer: AC
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